Freshman Trial in Gravel 2009 Sep.13.2009

& & R
Oval Cls . . Day 2 Overall Class
No Cls Driver Vehicle Type Penalty Total - -
Pos Pos sst | ss2 | ssa3 | ss4 | ss5 SS6 ss7 Diff. Pos |  Diff Pos
1 155 F 1 |&E &a Oyvyra—)L7 49— CP9A 1:06.8 1:05.8 1:07.8 1:14.3 1:14.9 1:18.3 1:16.7 8:24.6 +0.0 1 1
2 150 F 2 | BE Jadzy bHL—UF5 09 —0KA CP9A 1:06.2 1:05.7 1:07.4 1:15.8 1:13.9 1:19.5 1:16.5 8:25.0 +0. 4 2 +0. 4 2
3 144 F 3 |EFry XRE - 1:05.4 1:07.4 1:06.4 1:17.1 1:14.9 1:19.0 1:18.7 8:28.9 +4.3 3 +4.3 3
4 149 F 4 |IIEE &X SCENES > — CP9A 1:06. 6 1:05.8 1:07.2 1:17.17 1:15.9 1:20.5 1:18.3 8:32.0 +7.4 4 +7.4 4
5 152 F 5 |fFkep B S Y— CE9A 1:08.5 1:07.3 1:08.1 1:16.2 1:14.9 1:19.3 1:18.2 8:32.5 +7.9 5 +7.9 5
6 148 F 6 (A E—H |[EIKXKLAKRSH— CE9A 1:09.0 1:07.4 1:09.8 1:16.2 1:15.5 1:21.5 1:20.9 8:40.3 +15.7 6 +15.7 6
7 151 F 7 WA f#— SUH—1iR7 CT9A 1:12.2 1:08.9 1:07.1 1:19.4 1:15.3 1:22.5 1:18.7 8:44.1 +19.5 7 +19.5 7
8 135 D 1 |= = TS-SCENEA > T4 SR DC2 1:08.6 1:07.6 1:08.6 1:18.6 1:19.1 1:23.1 1:21.4 8:47.0 +22.4 8 1
9 153 F 8 |=R #E AT Lyy GDB 1:07.9 1:07.2 1:09.6 1:23.1 1:20.2 1:21.1 1:19.6 8:48.7 +24.1 9 +24.1 8
10 | 143 E I RS 2T5—Ya CC4A 1:09.3 1:07.7 1:10.6 1:20.2 1:18.6 1:23.5 1:22.2 8:52.1 +27.5 | 10 1
11 | 133 D 2 |5 FSA MSC=5—oa CJ4A 1:10.4 1:09.6 1:09.8 1:20.7 1:20.8 1:22.9 1:22.1 8:56.3 +31.7 | 11 +9.3 2
12 | 132 D 3 |Hf NfE SEvYIR EK9 1:10.1 1:08.9 1:10.1 1:22.8 1:20.7 1:23.7 1:21.9 8:58.2 +33.6 | 12 +11.2 3
13 | 131 D 4 |EH B KFSHEE! ! CJ4A 1:10.7 1:10.4 1:10.3 1:22.5 1:21.7 1:25.4 1:24.3 9:05.3 +40.7 | 13 +18.3 4
14 | 146 F 9 |l FE— F1ShopOVERTAKEJAPANA > T L w4 GC8 1:14.5 1:12.8 1:11.6 1:22.9 1:19.6 1:26.0 1:22.6 9:10.0 +45.4 | 14 +45. 4 9
15 | 126 D 5 |hiE BE EVRA—=HFrOyTI5—Ta CJ4A 1:18.3 1:10.2 1:11.7 1:21.5 1:21.7 1:24.6 1:23.9 9:11.9 +47.3 | 15 +24.9 5
16 | 142 E 2 (o &% Javzy rHL—CT—Y M312S 1:12.8 1:12.2 1:12.2 1:23.1 1:21.7 1:25.6 1:25.0 9:12.6 +48.0 | 16 +20.5 2
17 | 137 E 3 |dEEk [ oo 25—-2a CC4A 1:14.9 1:12.9 1:11.7 1:25.0 1:23.9 1:28.9 1:26.4 9:23.7 +59.1 17 +31.6 3
18 | 147 F 10 [iE® =z SATLOSRBERD VY — CT9A 1:15.5 1:14.0 1:15.1 1:24.7 1:22.8 1:27.2 1:26.4 9:25.7 +1:01.1 18 +1:01.1 10
19 | 134 D 6 |MT #F TawY NCP13 1:14.6 1:13.1 1:13.5 1:25.0 1:24.4 1:28.9 1:28.1 9:27.6 +1:03.0 | 19 +40. 6 6
20 | 141 E 4 |BE HF BWFIS5—2a CC4A 1:12.4 1:12.8 1:14.1 1:27.4 1:25.2 1:28.9 1:27.9 9:28.7 +1:04.1 20 +36. 6 4
21 | 129 D 7 |m -4 =5—Ya CJ4A 1:13.8 1:16.1 1:13.3 1:24.9 1:24.6 1:28.8 1:27.3 9:28.8 +1:04.2 | 21 +41.8 7
22 | 136 E 5 |luA@ FE@#IKL |FACIH FHL—TT—2 M312S 1:15.0 1:13.3 1:12.8 1:28.3 1:23.9 1:28.9 1:26.8 9:29.0 +1:04.4 | 22 +36. 9 5
23 | 123 D 8 |fERK BX |KM=5—2a CJ4A 1:13.6 1:16.7 1:12.3 1:28.2 1:26.8 1:29.8 1:27.9 9:35.3 +1:10.7 | 23 +48. 3 8
24 | 140 E 6 |{&% H SAFETY21 STORIA M112S 1:19.8 1:18.3 1:18.0 1:29.2 1:29.3 1:32.2 1:30.4 9:57.2 +1:32.6 | 24 +1:05.1 6
25 | 127 D 9 |K¥E i EIKIS5—Pa CJ4A 1:20.0 1:15.3 1:14.3 1:31.0 1:38.4 1:30. 4 1:29.9 9:59.3 +1:34.7 | 25 +1:12.3 9
26 | 122 C 1 |kE FiE A4 7T LyHIRX GC8 1:21.0 1:17.3 1:17.9 1:33.1 1:31.6 1:37.3 1:32.0 10:10.2 +1:45.6 | 26 1
27 | 125 D 10 | =t $EF FAGBSEDALAVTY SR DC2 1:15.3 1:14.5 1:15.3 1:36.5 1:36.6 1:40. 4 1:36.8 10:15.4 +1:50.8 | 27 +1:28.4 | 10
28 | 138 E KiE EX AN TadaF KK4 1:21.2 1:19.9 1:20.0 1:34.0 1:32.2 1:38.6 1:36.1 10:22.0 +1:57.4 | 28 +1:29.9
29 | 139 E 8 |hH M g4 44 RX-R KK4 1:24.1 1:22.3 1:21.5 71:38.5 1:35.2 1:45.7 1:42. 4 10:49.7 +2:25.1 29 +1:57.6 8
30 | 145 F 11 |HR BB HEREITAR CE9A 1:25.8 1:22.6 1:21.9 1:38.8 1:37.0 1:43.3 1:40.7 10:50. 1 +2:25.5 | 30 +2:25.5 | 11
31 | 121 B 1 (B b T4+ LARE—9 ORF—/\— (§F) SG5 1:26.5 1:31.4 1:25.8 1:46.0 1:41.6 1:46.8 1:46.2 11:24.3 +2:59.7 | 31 1
R 128 D R [NER KX |[EIXKXRHZ—Lwvtb EP82 1:23.5 1:12.7 1:21.5 1:34.9 1:27.0 Retired R R
R 130 D R |H#& R ZFETKRESPORZ—L v + EP82 1:12.0 1:11.0 1:11.6 1:35.3 1:26.1 1:27.3 1:27.6 Retired R R
R 154 F R |#A& $REB ERFALELT =TSy GE9A 1:06.8 1:06.3 1:05.9 1:16.4 1:15.0 1:26.4 Retired R R
IS5 AMEHEA
B SUTIKRAYRLRAALY MWD (SUIR-A2TLyHLIs)
C SUTIRKRARBAYRLARALY MWD (SUIR-A2TLvH)
D IxR/{—k 2wWD
E IFR/NA—k WD (SVIR-AVTLyH L)
F IXZ/N—k MWD (SIR-A2TLvY)




Sep 13 2009 Sep 13 2009

Freshman Trial in Gravel 2009 Day 2 Freshman Trial in Gravel 2009 Day 2
ARV RAT—UfEREK (BE ARV RT—UEREK (BE
| Course [NCML Dirt A-1 | [ Length | | | Course [NCML Dirt A-2 | | Length | |

Stage Classification Total Classification Stage Classification Total Classification
Pos | No [Class| Pos Driver Time Diff Km/h Pos No | Class| Pos Driver Time Pen Pos | No |Class| Pos Driver Time Diff Km/h Pos No | Class| Pos Driver Time Pen
1|144] F | 1 |[Ex%Y 1:05.4 +0.0 1 144 F | 1 [£F3> 1:05.4 11150 F | 1 |@ ®©E& 1:05.7 +0.0 1] +1|150] F | 1 | E& 2:11.9
2 (1501 F | 2 [E ®©& 1:06.2 +0.8 2 150 F | 2 | H©E& +0.8 2 (149 F | 2 [iIBE &X 1:05.8 +0.1 2 [ +1|149| F | 2 |iIBE #X +0.5
3 |149| F | 3 |iIBk #&X 1:06.6 +1.2 3 149| F | 3 |IIE &X +1.2 =2 |155| F | =2 |&#& {&7 1:05.8 +0.1 3 |+1|155| F | 3 |&#F &7 +0.7
4 |154| F | 4 |[#2& $RER 1:06.8 +1.4 4 154 F | 4 |22 RER +1.4 4 (154 F | 4 A& 4RER 1:06.3 +0.6 4| -3[144| F | 4 |[EXxRY +0.9
=4 |155| F | =4 |&#8 &7 1:06.8 +1.4 =4 155| F | =4 |&4 &3 +1.4 5 |153| F | 5 "R #®E 1:07.2 +1.5 5| -1]154| F | 5 [#2& $RER +1.2
6 [153| F | 6 |&=B #IE 1:07.9 +2.5 6 153 F | 6 |ZXR #{E +2.5 6 (152| F | 6 |f&sh £ 1:07.3 +1.6 6| =|153]| F | 6 |XB ®E +3.2
7 (152 F | 7 |#& BN 1:08.5 +3.1 7 152| F | 7 |f&keh 84 +3.1 7 (144 F | 7 |[£FRY 1:07.4 +1.7 7| =|152| F | 7 |#p N +3.9
8 (135 D |1 |=£ & 1:08.6 +3.2 8 185| D |1 |= & +3.2 =7 |148| F | =7 |E® EH—HR| 1:07.4 +1.7 8| =|135| D |1|=£ & +4.3
9 (148 F | 8 [AH H—HBl 1:09.0 +3.6 9 148| F | 8 |HAh E—HB +3.6 9 (135 D | 1 |= =1 1:07.6 +1.9 9| =|148] F | 8 |Hh E—H} +4.5
10 |143] E | 1 |&S &M 1:09.3 +3.9 10 143| E | 1 [B& KA +3.9 10 [143] E | 1 |&& FRM 1:07.7 +2.0 10| = [143| E | 1 |&®E RAT +5.1
11(132] D | 2 |AF K& 1:10.1 +4.7 11 132| D | 2 (A% HfE +4.7 11132 D | 2 |A% *ki& 1:08.9 +3.2 11| = (132 D | 2 |AB HiE +7.1
12|133] D | 3 |5HE ## 1:10.4 +5.0 12 133| D | 3 |4H #&# +5.0 =11|1651| F | 9 [IlLA f@— 1:08.9 +3.2 12| = [133| D | 3 |4HE #f +8.1
13(131| D | 4 | kA B 1:10.7 +5.3 13 131| D | 4 |[EB@ = +5.3 13|133| D | 3 |5HE ##/d 1:09. 6 +3.9 13| =(131| D | 4 |tE = +9.2
141130 D | 5 |F#& #R 1:12.0 +6.6 14 130| D | 5 |H#E # +6.6 14(126] D | 4 |hiE EE 1:10.2 +4.5 =13| +2 [151| F | 9 [luE f@— +9.2
15 (151 F | 9 |luE fE2— 1:12.2 +6.8 15 151 F | 9 [luE fE— +6.8 15 (131 D | 5 | k@ =3 1:10.4 +4.7 15(-1(130| D | 5 |¥#&E 4R +11.1
16 (141 E | 2 BB %0F 1:12.4 +7.0 16 141 E | 2 KB %0F +7.0 16 (130| D | 6 |HFk #h 1:11.0 +5.3 16| +1 (142 E | 2 (lLO &% +13.1
17 (142] E | 3 |uA &% 1:12.8 +7.4 17 142| E | 3 lum Bi¥ +1.4 17 (142| E | 2 luo B3¥ 1:12.2 +6.5 17| -1(141| E | 3 BB #%F +13.3
18(123| D | 6 |[tk#KA BRX| 1:13.6 +8.2 18 123 D | 6 |[fE"RA BX +8.2 18 (128| D | 7 |N\ER #K| 1:12.7 +1.0 18| +2 [146| F |10 (3Z)Il F— +15.4
19129 D | 7 |&8 E#& 1:13.8 +8. 4 19 129] D | 7 |8 E# +8.4 19 |141| E | 3 |BE #F 1:12.8 +7.1 19| +2(134| D | 6 [T #F +15.8
20 | 146 F |10 [3L)l ZH— 1:14.5 +9.1 20 146 F |10 |3Z)l FH— +9.1 =19|146( F |10 [Nl ZH— 1:12.8 +7.1 20 +2|137| E | 4 |&W K& +15.9
21134 D | 8 M T #F 1:14.6 +9.2 21 134| D | 8 [T #F +9.2 21 (137 E | 4 |8 K& 1:12.9 +1.2 21| +2|136| E | 5 |luO =@ +16.4
22|137| E | 4 |&8 & 1:14.9 +9.5 22 137| E | 4 | & +9.5 22 (134 D | 8 (MT #F 1:13.1 +1.4 22| +4|126| D | 7 |[hiB BE +16.6
23 (136| E | 5 [luO SEgfE| 1:15.0 +9.6 23 136 E | 5 [luA k@i +9.6 23 (136| E | 5 [1luO S=e#E| 1:13.3 +1.6 23 +2|147] F | 11 (RSB E +17.6
24 (125 D | 9 |[=& #@¥F 1:15.3 +9.9 24 125 D | 9 |=£ #@F +9.9 24 (147 F |11 BB = 1:14.0 +8.3 24| =|125| D | 8 [=£ #WF +17.9
25147 F | 11 (BB = 1:15.5]  +10.1 25 147 F |11 [BER = +10.1 25(125| D | 9 |=t #EF 1:14.5 +8.8 25|-6|129| D | 9 |F@ E#H +18.0
26 (126 D |10 [hi2 B 1:18.3]  +12.9 26 126| D | 10 (B BE +12.9 26 |127| D | 10 |KFE #4E 1:15.3 +9.6 26| -8|123| D |10 [fEAKR BX +18.4
27 |140| E | 6 [1EZ & 1:19.8| +14.4 27 140 E | 6 |tkF E +14.4 27|129| D |11 |m EH 1:16.1|  +10.4 27 | +1|127] D | 11 |KFE #Bi +23.4
28 [127| D | 11 |[KE #42 1:20.0] +14.6 28 127| D | 11 |KE 8 +14.6 28 (123| D |12 {2k BX| 1:16.7| +11.0 28 | +3 128 D |12 [\ER X +24.3
29 (122| C | 1 |kEF #niF 1:21.0 +15.6 29 122 ¢ | 1 |k¥ F0iE +15.6 29 |122| C | 1 |k% #niF 1:17.3|  +11.6 29| -2|140| E | 6 |t & +26.2
30138 E | 7 [KkiB X 1:21.2| +15.8 30 138 E | 7 KB #X +15.8 30|140| E | 6 |[f&F & 1:18.3| +12.6 30| -1]122| ¢ | 1 [XkE FF +26. 4
31128 D |12 [J\ER #A| 1:23.5 +18.1 31 128| D |12 |\ER #KX +18.1 31 (138| E | 7 KB #X 1:19.9|  +14.2 31| -1(138] E | 7 |[KE #X +29.2
32139 E | 8 [hE FEfd 1:24.1|  +18.7 32 139 E | 8 [hE FEfE +18.7 32 (139 E | 8 (@ B 1:22.3| +16.6 32| =|139| E | 8 [hEA FEf +34.5
33145 F |12 (MR HB:E 1:25.8]  +20.4 33 145| F | 12 (MR BB +20. 4 33 [145| F |12 (MR EB 1:22.6| +16.9 33| = |145| F |12 |#WE MRE +36.5
34121 B | 1 [Bll & 1:26.5| +21.1 34 121 B | 1 [Bl +21.1 34 (121 B | 1 [B # 1:31.4| +25.7 34| =|121] B | 1 |BN B +46.0
35 35 35 35
36 36 36 36




Sep 13 2009 Sep 13 2009

Freshman Trial in Gravel 2009 Day 2 Freshman Trial in Gravel 2009 Day 2
ARV RAT—UfEREK (BE ARV RT—UEREK (BE
| Course [NCML Dirt A-3 | [ Length | | [ss] 4] | Course [NCML Dirt B-1 | | Length | |
Stage Classification Total Classification Stage Classification Total Classification
Pos | No [Class| Pos Driver Time Diff Km/h Pos No | Class| Pos Driver Time Pen Pos | No |Class| Pos Driver Time Diff Km/h Pos No | Class| Pos Driver Time Pen
1 (154 F | 1 |#a& 3EER 1:05.9 +0.0 1| +4 (154 F | 1 |28 $AEB 3:19.0 1 [155) F | 1 |&48 &3 1:14.3 +0.0 1 |+4[155| F | 1 |&4E &3 4:34.7
2 (144 F | 2 [Ex%> 1:06.4 +0.5 2 [ +2 (144 F | 2 [ X% +0.2 2 (150 F | 2 [ H©E& 1:15.8 +1.5 2 [+1|150| F | 2 |l HEH +0. 4
3 (151 F | 3 [luE\ f— 1:07.1 +1.2 3 |-2|150| F | 3 |@ ®E&H +0.3 3 |148| F | 3 |[Ash E—ER| 1:16.2 +1.9 3| -2|154] F | 3 |M& $RER +0.7
4 (149| F | 4 I &X 1:07.2 +1.3 4| -2|149| F | 4 [[IFE BX +0.6 =3 |162| F | =3 [#&k& &7 1:16.2 +1.9 4 | -2|144] F | 4 |[£EF Y +1.6
5 (150 F | 5 |[@ H©E& 1:07.4 +1.5 5|-2|155| F | 5 |B# &7 +1.4 5 [154| F | 5 [ 4RER 1:16.4 +2.1 5 -1]149] F | 5 |iIfE #X +2.6
6 |155| F | 6 [&# &7 1:07.8 +1.9 6 | +1]|152| F | 6 |$h BN +4.9 6 (144 F | 6 |[ Xy 1:17.1 +2.8 6 | =|152| F | 6 |k &N +5.4
7 (152 F | 7 |#& BN 1:08.1 +2.2 7|-1]183] F | 7 |RB ®E +5.7 7 (149 F | 7 |iIfk &X 1:17.7 +3.4 7 |+2|148] F | 7 |H E—HR +1.7
8 (135 D | 1 |= = 1:08.6 +2.7 8| =135/ D [1|= & +5.8 8 (135 D | 1 |= & 1:18.6 +4.3 8| =113 D | 1]|= & +8.7
9 [153| F | 8 KRR #®WIE 1:09.6 +3.7 9 | = (148 F | 8 |Hh E—ER +1.2 9 |151| F | 8 [luE ®@&— 1:19.4 +5.1 9 |+2 (151 F | 8 (L@ f@#— +12.9
10(133] D | 2 |5HE ##d 1:09.8 +3.9 10| = [143| E | 1 |&HS RRiT +8.6 10 [143] E | 1 |&& FRM 1:20.2 +5.9 10| = [143| E | 1 |&®E RAT +13.1
=10|148| F | 9 (@ E—gR| 1:09.8 +3.9 1| +2 (151 F | 9 lu\E f— +9.2 11133 D | 2 |5E ##/ 1:20.7 +6. 4 =10| -3 [153| F | 9 |&B #®E +13.1
12|132) D | 3 |A& HkiE 1:10.1 +4.2 12| -1(132| D | 2 |EA$ HkfE +10.1 12 (126] D | 3 |hiE EE 1:21.5 +7.2 12| +1[133| D | 2 |[4HE #f# +15.8
13(131| D | 4 | kA B 1:10.3 +4.4 13| -1(133] D | 3 |[4HE #H +10.8 13(131| D | 4 | kB B 1:22.5 +8.2 13| -1(132| D | 3 |Adh H4E +17.2
14 (143 E | 1 |&S &M 1:10.6 +4.7 14| -1[131| D | 4 |EtH & +12.4 14 (132| D | 5 |Ad Hi& 1:22.8 +8.5 14| = [131| D | 4 |tH & +19.2
15130 D | 5 |&FE # 1:11.6 +5.7 15| =|130| D | 5 |XE&E # +15.6 15146 F | 9 |32)l &— 1:22.9 +8.6 15| +1 (142 E | 2 [lum B3 +25.6
=15(146| F | 10 [3)II F— 1:11.6 +5.7 16| = [142| E | 2 [um EBE#% +18.2 16 [142] E | 2 iR &% 1:23.1 +8.8 16| +4(126| D | 5 |hiE BE +21.0
17|126| D | 6 |8 BE 1:11.7 +5.8 17| +1 | 146 F | 10 [3Z) BH— +19.9 =16|153| F | 10 |&B #E 1:23.1 +8.8 17| = (146 F |10 |s2)l B— +27.1
=17|137| E | 2 (B B 1:11.7 +5.8 18| -1|141] E | 3 |BE %F +20.3 18 |147| F | 11 |iE®B & 1:24.7  +10.4 18| +1 (137 E | 3 |&k & +29.8
19 (142 E | 3 (LB E¥ 1:12.2 +6.3 19| +1 (137 E | 4 |[&E B +20.5 19(129] D | 6 |F@ & 1:24.9]  +10.6 19 +3(134| D | 6 |M T #F +31.5
20(123| D | 7 [#k2KX BRX| 1:12.3 +6.4 20| +2|126| D | 6 (B EE +21.2 20(134| D | 7 T #F 1:25.0 +10.7 20| -2|141| E | 4 [BE &F +32.0
21 (136| E | 4 [lLO SEefE| 1:12.8 +6.9 21| = |136] E | 5 |luO @i +22.1 =20|137| E | 3 [&¥ B& 1:25.0 +10.7 21 +3|129| D | 7 |F@ EB# +33.4
22(129| D | 8 | KA 1:13.3 +1.4 22|-3|134| D | 7 |MT #F +22.2 22 |141| E | 4 |BRE #F 1:27.4] +13.1 22 | +3|147] F | 11 BB ZF +34.6
230134 D | 9 M T #F 1:13.5 +1.6 23| +3|123| D | 8 [{E4K EBX +23.6 23123 D | 8 [{EAK RX| 1:28.2] +13.9 23| -2|136| E | 5 |luO ZEfBiE +34.7
24 (141 E | 5 (BB &F 1:14.1 +8.2 24(+1|129| D | 9 |8 s +24.2 24 |136| E | 5 [lu@ Seh#d| 1:28.3] +14.0 24| -9|130| D | 8 |H#E +35.2
25 (127| D |10 |[KFE ## 1:14.3 +8.4 25 -2 (147 F |11 BB F +25.6 25|140| E | 6 |[iE% & 1:29.2|  +14.9 25| -2|123| D | 9 [EAK BX +36. 1
26 |147| F | 11 (BB & 1:15.1 +9.2 26| -2|125| D |10 (=L #WF +26. 1 26 (127 D | 9 |KFE ## 1:31.0] +16.7 26 | +1|127] D | 10 |KFE ##C +45.9
27125 D |11 |=L #EF 1:15.3 +9.4 27| = |127] D | 11 |KFE #iE +30. 6 27 |122| C | 1 |k% #niF 1:33.1| +18.8 27|-1|125 D |11 |=L #BF +46.9
28 (122| C | 1 |kE #0iF 1:17.9|  +12.0 28 | +1|140| E | 6 |[{£EZ H +37.1 28 (138| E | 7 KB #X 1:34.0  +19.7 28| = |140| E | 6 |[fxE & +50. 6
29 (140| E | 6 (1B #H 1:18.0  +12.1 29 | +1|122] C | 1 |k F0iE +37.2 29 |130| D |10 |H#E R 1:35.3| +21.0 29| = |122| ¢ | 1 |k F0iE +54. 6
30138 E | 7 [KkiB X 1:20.0[ +14.1 30| +1 (138 E | 7 |[KB #X +42.1 30125/ D | 11 |=Lk #EF 1:36.5| +22.2 30| = |138] E | 7 |[KEB #X +1:00. 4
31139 E | 8 |hEA M 1:21.5] +15.6 31| +1|139| E | 8 [hE Ml +48.9 31|139| E | 8 |hE KM 1:38.5| +24.2 31| =|139| E | 8 [hE FEfl +1:11.7
32 (145 F |12 [#m = 1:21.9] +16.0 32| +1|145| F |12 |WE BBE +51.3 32 (145| F |12 (MR BB 1:38.8) +24.5 32| = |145| F |12 MR BEE +1:14.4
331211 B | 1 [BI & 1:25.8] +19.9 33|+ (121 B | 1 |&JI i +1:04.7 33 (1211 B | 1 |BI i 1:46.0 +31.7 33| = |121] B | 1 |BJI b +1:35.0
34 34 34 34
35 35 35 35
36 36 36 36




Sep 13 2009 Sep 13 2009

Freshman Trial in Gravel 2009 Day 2 Freshman Trial in Gravel 2009 Day 2
ARV RAT—UfEREK (BE ARV RT—UEREK (BE
| Course [NCML Dirt B-2 | [ Length | | [ss] 6 ] | Course [NCML Dirt C-1 | | Length | |
Stage Classification Total Classification Stage Classification Total Classification
Pos | No [Class| Pos Driver Time Diff Km/h Pos No | Class| Pos Driver Time Pen Pos | No |Class| Pos Driver Time Diff Km/h Pos No | Class| Pos Driver Time Pen
1 (150 F [ 1 |@ ©E& 1:13.9 +0.0 1|+ |150f F | 1 |[@ E& 5:49.0 11155 F | 1 |54 &3 1:18.3 +0.0 1| +1[155| F | 1 |&#E &3 7:07.9
2 (144 F | 2 [Ex%> 1:14.9 +1.0 2 |-1]155| F | 2 |&#E &7 +0.6 2 (144 F | 2 [Ex%> 1:19.0 +0.7 2 [-1|150| F | 2 |/l HEH +0.6
=2 [152| F | =2 [#ksh BN 1:14.9 +1.0 3| = (154 F | 3 [2& $RER +1.4 3 |162| F | 3 |#&& #BA 1:19.3 +1.0 3| +1 (144 F | 3 [£FFY +2.3
=2 |155| F | =2 |&# &= 1:14.9 +1.0 4| =[144] F | 4 [ xR +2.2 4 (1501 F | 4 @ H©E& 1:19.5 +1.2 4 [+ (149 F | 4 |iIfE &X +5.8
5 |154] F | 5 [#2& $RER 1:15.0 +1.1 5| =|149| F | 5 |iIfE #X +4.2 5149 F | 5 Ik &#X 1:20.5 +2.2 5| +1|152| F | 5 |F&d &N +6. 4
6 [151| F | 6 [\ f— 1:15.3 +1.4 6 | =|152| F | 6 |h N +6.0 6 (153 F | 6 |XB #E 1:21.1 +2.8 6 |+1|148] F | 6 |HP E—H} +11.5
7 (148 F | 7 |Ach E—BB| 1:15.5 +1.6 7| =|148] F | 7 |Hh E—H} +8.9 7 (148 F | 7 |Ash E—BB| 1:21.5 +3.2 7 |+2|151] F | 7 |luE f@— +17.5
8 (149 F | 8 Ik &X 1:15.9 +2.0 8| =135/ D [1|= & +13.5 8 [151| F | 8 [\ f— 1:22.5 +4.2 8| =|135| D |1|=£ & +17.7
9 |143| E 1 |&E R 1:18.6 +4.7 9 | = (151 F | 8 |[lUA #&— +13.9 9 |133] D 1|45 A 1:22.9 +4.6 9 |+2(153] F | 8 |&ER #E +21.2
10135/ D |1 |= = 1:19.1 +5.2 10| = |143] E | 1 [&8S FRY +17.4 10135 D | 2 |= & 1:23.1 +4.8 10| = |143] E | 1 [&& R +22.0
11146 F | 9 |3zl F— 1:19.6 +5.7 1m|-1(183 F | 9 |=B #®E +19.0 1143 E | 1 |&& RRAr 1:23.5 +5.2 11|+ (133 D | 2 |5@ #m& +26.3
12 |153| F |10 |=R #iE 1:20.2 +6.3 12| = [133| D | 2 |[4E ##M +22.3 12 (132| D | 3 |Ad Ki& 1:23.7 +5.4 12| +1 (132 D | 3 |A$ HKfE +28.4
13 (132 D | 2 |Ef HRiE 1:20.7 +6.8 13| = |132| D | 3 |Et HfE +23.6 13|126| D | 4 |hiE BE 1:24.6 +6.3 13|+ (131 D | 4 | kB & +33.1
14 (133] D | 3 |5HE #® 1:20.8 +6.9 14| =|131| D | 4 |tB B +26.6 14|131| D |5 |tB & 1:25.4 +7.1 14| +1|146] F | 9 [N H— +39.5
15(126| D | 4 |hE BE 1:21.7 +1.8 15| +2 | 146 F | 10 [3Z)Il =HE— +32.4 15142 E | 2 luo B3¥ 1:25.6 +1.3 15| +1 (142 E | 2 [lum B3 +39.7
=15/131| D |=4 (LA 3 1:21.7 +7.8 16| -1 (142 E | 2 (B EB* +33.0 16 | 146 F | 9 |3Z)Il FE— 1:26.0 +1.7 16| +1(126| D | 5 |hiE BE +40. 1
=15(142| E | 2 (WO &% 1:21.7 +1.8 17| -1|126] D | 5 |hE EE +34. 4 17 |147| F |10 &8 & 1:21.2 +8.9 17| +1[137] E | 3 |[&k K& +49. 4
18 |147| F |11 |iEB & 1:22.8 +8.9 18| = |137] E | 3 |[&¥ B& +39. 4 18|130| D | 6 |HF#E #h 1:27.3 +9.0 18| +3 [147] F |10 ;& % +51.4
19 [136| E | 3 |luA E@#E| 1:23.9] +10.0 19| = [134| D | 6 [T #£F +41.6 190129 D | 7 |F@ & 1:28.8] +10.5 19| = [134| D | 6 M T #F +51.6
=19|137| E | =3 |[&H 3 1:23.9 +10.0 20| = |141| E | 4 |BE #F +42.9 20 (134| D | 8 (T #F 1:28.9 +10.6 20| = |141] E | 4 BB #F +52.9
21134 D | 6 M T #F 1:24.4)  +10.5 21|+ |147] F | 11 RSB & +43.1 =20(136| E | 3 [luE =@#| 1:28.9] +10.6 21| +1|129| D | 7 |  Esst +53.6
22(129| D | 7 |@ -4 1:24.6 +10.7 22 -1(129| D | 7 |&@ -} +43.7 =20|137| E | =3 [&H & 1:28.9 +10.6 22| +1|136| E | 5 [lLO =@ +54.3
23141 E | 5 |BRE #F 1:25.2|  +11.3 23| = |136| E | 5 [lUO @i +44.3 =20(141| E | =3 BB #F 1:28.9| +10.6 23| +1|130| D | 8 |H#E +55. 4
24 (130| D | 8 |H#E & 1:26.1|  +12.2 24| = |130| D | 8 |HE # +47.0 24 (123| D | 9 [{E2K RBX| 1:29.8) +11.5 24| +1 123 D | 9 |[tkRK BRX +59.5
25123 D | 9 [{EAK RX| 1:26.8) +12.9 25| =|123| D | 9 [#EAK BX +48.6 25 (127| D |10 |[KF ##2 1:30.4|  +12.1 25| +1|140| E | 6 |[{&EF E +1:18.9
26(128| D | 10 |NEE #WA|l 1:27.5| +13.6 26| +2|140| E | 6 |tk & +1:05.6 26 |140| E | 6 |[#£% & 1:32.2| +13.9 26 | +2|127| D | 10 |KFE ##C +1:21.5
27 |140| E | 6 [1EZ & 1:29.3| +15.4 27| =|125| D |10 =k #WF +1:09. 2 27 (128| D |11 |\ER K| 1:34.9] +16.6 27 | +2|122| C | 1 |k F0iE +1:30.3
28 (122| C | 1 |5kB FniF 1:31.6| +17.7 28| -2 |127| D | 11 |[KFE i +1:10.0 28 |122| C | 1 |k% F0iF 1:37.3]  +19.0 28| -1|125| D |11 |=t #E¥F +1:30.7
29 (138| E | 7 |Ki® #X 1:32.2| +18.3 29| = |122| ¢ | 1 [XkE F0iF +1:11.9 29 (138 E | 7 KB #X 1:38.6] +20.3 29| +1|138| E | 7 [KB #X +1:38.0
30 (139 E | 8 [hE R 1:35.2]  +21.3 30| = |138| E | 7 [KiB #X +1:18.3 30 (125 D |12 |=+ #WF 1:40.4| +22.1 30| +1|139| E | 8 |[fhEA FEfl +1:59. 4
31125 D |11 |[=L #@F 1:36.6| +22.7 31| = |139| E | 8 [hEA FRfk +1:32.6 31 (145 F | 11 (MR EB= 1:43.3] +25.0 31| +1|145| F | 11 [#ER BB +2:01.5
32145 F |12 (MR BB 1:37.0]  +23.1 32| = |145| F |12 |[WE BBE +1:37.1 32 (139 E | 8 |hE FEf# 1:45.7| +27.4 32+ |121] B | 1 |BN B +2:30.2
33|127| D |12 |[KE #H# 1:38.4 +24.5 33| = (121 B | 1 (B % +2:02.3 33|121| B 1|80 i 1:46.8 +28.5 33
340121 B | 1 [BIl % 1:41.6) +27.7 34 34 34
35 35 35 35
36 36 36 36




Sep 13 2009
Freshman Trial in Gravel 2009 Day 2
ARUYLRT—IHERE (BE

[ Course [NCML Dirt C-2 | [ Length | |
Stage Classification Total Classification
Pos | No [Class| Pos Driver Time Diff Km/h Pos No | Class| Pos Driver Time Pen
1 (150 F [ 1 |@ ©E& 1:16.5 +0.0 1] =1(155| F | 1 |&#H ©&3 8:24.6
2 (155 F | 2 |&#B &= 1:16.7 +0.2 2| =|150| F |2 |@ ®E&H +0.4
3 [152| F | 3 |Fkeh B4 1:18.2 +1.7 3| = (144 F | 3 [F%Y +4.3
4 |149| F | 4 I #X 1:18.3 +1.8 4| =|149| F | 4 [{IFE #/X +1.4
5144 F | 5 [EFH> 1:18.7 +2.2 5| =1(152| F | 5 |F&& #&A +7.9
=5 |151| F |=5 (LA f— 1:18.7 +2.2 6| =|148] F | 6 |Hth E—H} +15.7
7(183] F | 7 |ZR #®E 1:19.6 +3.1 71 =151 F | 7 L@ {g&— +19.5
8 |148| F | 8 (A E—ER| 1:20.9 +4.4 8| =185 D|[1|=£ & +22.4
9 |135] D 1 [=k = 1:21.4 +4.9 9 | =|[153] F | 8 |&ER #E +24.1
10132 D | 2 A& HkiE 1:21.9 +5.4 10| = [143| E | 1 |&HS RRiT +21.5
11(133] D | 3 |5@E #m 1:22.1 +5.6 11| =133 D | 2 |[§H #H +31.7
12 |143] E | 1 |&S RM 1:22.2 +5.7 12| = [132| D | 3 |E$ HKfE +33.6
13146 F | 9 |32l &H— 1:22.6 +6. 1 13| =(131| D | 4 |E@ & +40.7
14(126] D | 4 |hiB EE 1:23.9 +7.4 14| = |146] F | 9 [ FHE— +45. 4
15131 D | 5 | kA B 1:24.3 +1.8 15| +1|126] D | 5 |2 EE +47.3
16 (142 E | 2 luB@ E¥ 1:25.0 +8.5 16| -1 (142 E | 2 (B EB* +48.0
17 (137] E | 3 |&4 & 1:26.4 +9.9 17 = (137 E | 3 |&W W& +59.1
=17|147| F |10 [EB = 1:26.4 +9.9 18| = [147| F |10 iEB = +1:01.1
=17|154| F |=10(fA@ #RER 1:26.4 +9.9 19| =|134| D | 6 | T #F +1:03.0
20 |136| E | 4 lLO S=eh#2| 1:26.8) +10.3 20| = |141| E | 4 (BB #F +1:04.1
21(128| D | 6 [/\ER #X| 1:27.0] +10.5 21 =129 D | 7 |F8 E& +1:04.2
22(129| D | 7 |@ -4 1:27.3 +10.8 22| =|136| E | 5 [lkA EffE| +1:04.4
23(130| D | 8 |B#&%E & 1:27.6| +11.1 23| = |13 D | 8 |BH#E A +1:06.3
241123 D | 9 [fE2K BRX| 1:27.9] +11.4 24| =123 D | 9 |[tk"RK RXK| +1:10.7
=24|141| E | 5 |HE %F 1:27.9]  +11.4 25| = |140| E | 6 |tk & +1:32.6
26 (134 D |10 (1 F #2F 1:28.1|  +11.6 26| = |127| D | 10 [KE i +1:34.7
27 (127 D | 11 | KFE 1:29.9| +13.4 27| = |122] ¢ | 1 |k F0¥E +1:45.6
28 (140| E | 6 (1% #H 1:30.4| +13.9 28| = (125 D |11 |=L FBF +1:50.8
29 |122| C | 1 |kE FniF 1:32.0] +15.5 29| = |138| E | 7 [KBE #X +1:57.4
30138 E | 7 [kiB® #xX 1:36.1|  +19.6 30| = |139| E | 8 [fhEA FEfH +2:25.1
31125 D |12 |=L #@F 1:36.8) +20.3 31| = |145| F | 11 [#ER M= +2:25.5
32 (145 F |12 (MR HBZE 1:40.7| +24.2 32| =121 B | 1 |8l & +2:59.7
33 (139 E | 8 |hHE FEfé 1:42.4 +25.9 33
34121 B | 1 [BIl  # 1:46.2| +29.7 34
35 35
36 36




Freshman Trial in Gravel 2009 Day 2

SS Bz
Sep 13 2009
SS1 SS2 SS3 SS4 SS5 SS6 SS7

| No | Cls | Driver Pos: Time : Diff |Posi Time : Diff |Posi Time : Diff |Posi Time : Diff |Posi Time i Diff |Posi Time i Diff |Posi Time | Diff

121 | B |BIl & 34: 1:26.5: +21.1/34; 1:31.4; +257|33: 1:258; +19.9|33: 1:46.0i +31.7|34: 1:41.6; +277|33: 1:46.8] +285/34: 1:46.2 +297
122 | C [Xk¥ FiE 29 1:21.0. +156{29 1:17.3] +11.6/28: 1:17.9. +120[27 1:33.1; +188/ 28 1:31.6] +17.7/28 1:37.3] +190[29 1:320; +155
123| D |[tk2#K BA |18 1:136/ +82/28i 1:16.7. +110[20i 1:12.37 +64| 23| 1:282] +139/25  1:26.8] +129|24 1:298. +115/ 24 1:27.9 +14
125| D |=L $EF 24% 1:153; +99 25 1:145) +88[27: 1:153; +94/30: 1:365; +222(31: 1:36.6] +227[30: 1:404; +221/31: 1:36.8] +203
126 | D |HhiE BE 26 1:183 +129[ 14 1:102; +45/17; 1:11.7 +58[12 1:215  +72[15; 1:21.7; +78|13  1:246.  +63| 14 1:239 +74
127 | D |[KFE B 28 1:200] +146{26: 1:153. +96[ 25 1:14.3  +84[26: 1:31.0] +167|33  1:38.4] +245/25 1:304; +121|27: 1:299] +134
128 | D [\ER A |31 1:235 +181|18 1:12.7; +70 26 1:275] +136/27; 1:349 +166[21; 1:27.0. +105
129| D |F g 197 11387 +84/ 271 1:16.1) +104[22° 1:133] +7.4{ 19 1:249 +106/22  1:246. +107[ 19 1:288] +105/22; 1:27.3] +108
130 | D |EE R 141 11207  +66/ 16 1:11.0.  +53[ 15 1:116; +57| 29 1:353] +210|24 1:26.1) +122/ 18 1:27.3] +90( 23 1:27.6. +I1.1
181| D |kE = 131 1:107¢  +53[ 151 1:104.  +47[ 13 1:103] +44{ 13 1:225; +82|15 1:21.7. +78/ 14 1254 +7.1{15: 1:243  +18
132 | D |E & 11 11017 +47) 11 1:089  +32[12 1:101; +42{ 14 1:228] +85/13  1:20.7. +68 12 1:237 +54/10; 1:21.9. +54
133 | D |SH ## 12; 1104 +50[ 13} 1:09.6. +39/10 1:09.8; +39| 11 1:20.7: +64|14 1:208  +69| 9 | 1:229; +46/11: 1:22.1, +56
134 | D |MTF #F 21 1:146  +92[22 11311 +74/ 23 1:135  +76/20 1:250] +107| 21 1:244. +105/20 1:289. +106/26: 1:28.1i +11.6
15| D |=£ = 8 1.086 +32| 9 1:.076] +19/ 8 1086 +27| 8  1:186  +43[ 10 1:19.1; +52{10; 1:23.1.  +48| 9 & 1:21.4  +49
136 | E (LD Z@m#%& |23 1:150 +96[231 1:13.37 +76[21: 1:128] +69/ 24 1:28.3] +140{19 1:239 +100/20 1:28.9. +106/20: 1:26.8] +103
137 | E |&H & 22 1:149 9521 1129  +72(17F 1:11.7. +58/20 1:250; +107[ 19 1:23.9. +100/20 1:289. +106| 17 1:26.4; +9.9
138 | E |k &X 30 1:21.20 +158{31; 1:19.9] +142| 30 1:200, +14.1|28  1:340] +197/ 29} 1:32.2] +183|29 1:386. +203[30: 1:36.1 +19.6
139 | E |hHE FEH 321 1:241, +187\ 32} 1:22.3. +166/ 31 1:21.5. +156{ 31 1:385 +242{30: 1:352 +21.3] 32} 1:457 +27.4[33: 1:424 +259
140 | E |tk % 27 1:198 +144{30 1:183] +126(29: 1:180. +121|25 1:292] +149/27 1:29.3] +154|26 1:322] +139/28 1:30.4i +139
141 | E |BE #F 16 11247  +70[ 19 1:128  +7.1/24 1:141  +82{ 22 1:274i +131|23  1:252. +113[20 1:289] +106(24: 1:27.9. +114
142 | E (WA S3% 170 11287  +74{ 17 1:122.  +65/19 1:122; +63[16; 1:231; +88|15. 1:21.7. +78[ 15, 1:256; +7.3|16: 1:250, +85
143 | E |48 MY 10 1:09.3; +39/10: 1:07.7; +20|14: 1:106; +47/10; 1:202; +59| 9 : 1:186; +47|11: 1:235 +52|12; 1:22.2] +57
144 | F |[E#F*> 1:054; +00| 7 i 1.07.4; +1.7| 2} 1:064; +05| 6 i 1:17.17 +28/ 2 | 1:149. +10| 2 | 1:190; +07| 5 | 1:187 +22
145 | F |H[E BB 33 1:258; +204|33: 1:226: +169(32: 1:21.9 +160{32; 1:38.8; +245/32: 1:37.00 +231|31;{ 1:433; +250(32: 1:40.7. +242
146 | F [3Z)Il E— 20 1:145  +91[19} 1128  +7.1|15: 1:11.6] +57/15. 1:229. +86| 11 11967 +57/ 16 1:260. +77[ 13 1:226;  +6.1
147 | F [BEER & 25 1:155. +10.1(24 1:1407 +83|26: 1:151  +92[18 1:247; +104/ 18} 1:228] +89|17 1:27.2  +89[ 17} 1:26.4] +9.9
148 | F |M™ E—EF | 9: 1.090 +36| 7 1.074. +17/10i 1.098 +39| 3 | 1:162  +19| 7 1155 +16| 7 | 1:21.5. +32| 8 | 1:209] +44
149 | F [iIfk &X 3. 1.066 +12| 2 1.058 10720 +13| 71 1:17.70  +34| 81 1:159 +20| 51 1:205] +22| 4 | 1:183] +18
150 | F | ©& 2 1062 +0sjl 1.057 1:074.  +15 2 1:158 +1_5 1:139)  +00| 4 1:195 +1.2 1:16.5;  +0.0
151 | F [lLE fg— 15 1:122  +68/ 11 1.08.9 10717 +12| 9 0 1194 +51| 6 i 1:153; +14| 8 | 1:225 +42| 5 | 1:187  +22
152 | F |#keh #5 7 1085 +31| 6 1073 1:081;  +22| 3 1:162  +19| 2 | 1:149 +10{ 3 | 1:193  +10| 3 | 1:182 417
153 | F |&B ®E 6 1.079 +25/ 5 1072 1:09.6] +37/16 1:23.1; +88[12i 1:202; +63| 6 | 1:21.17 +28/ 7 | 1:196]  +3.1
154 | F [#2E $AEB 4 1068 +14 4 1063 1:059; +00| 5 1:164; +21| 5 1:150 +1.1 17 1:264;  +9.9
155 | F |&18 &3 4 1068 +1.4| 2 1.058 1:07.8 +1_9 1:143.  +00[ 2 i 1:149 +1_o 1:183. +00[ 2 i 1:16.7  +02




Freshman Trial in Gravel 2009 Day 2
Bz (#8&

Sep 13 2009
SS 1 SS2 SS3 SS4 SS5 SS 6 SS7

No [Class Driver Pos | No Time No Time No Time No Time No Time No Time No Time
121 B B b 1 (144 1:05.4{150 2:11.9|154 3:19.0]155 4:34.7(150 5:49.0|155 7:07.9]155 8:24.6
122 C |[k¥ g 2 (150 +0. 8{149 +0.5(144 +0.2|150 +0. 4|155 +0. 6{150 +0. 6{150 +0. 4
123| D [fE#/K BX 3 |149 +1.2|155 +0. 7{150 +0. 3154 +0. 7|154 +1. 4144 +2.3|144 +4.3
125 D |=L£ #BF 4 (154 +1.4|144 +0.9(149 +0.6(144 +1.6(144 +2.2(149 +5. 8(149 +7. 4
126| D |hiE BE 5 [155 +1.4|154 +1.2|155 +1.4(149 +2.6(149 +4.2(152 +6. 4(152 +71.9
127 D |K¥E @ 6 (153 +2.5(153 +3.2|152 +4.9(152 +5.4|152 +6.0(148 +11.5|148 +15.7
128| D [\EJF KX 7T (152 +3.1{152 +3.9(153 +5. 7148 +7.7|148 +8.9|151 +17. 5151 +19.5
129 D |m 3 8 (135 +3.2(135 +4.3|135 +5. 8|135 +8.7|135 +13.5|135 +17.7|135 +22. 4
130 D |HEk $h 9 (148 +3.6(148 +4.5(148 +7.2|151 +12.9|151 +13.9]153 +21.2|153 +24. 1
131 D |EH B 10 |143 +3.9(143 +5.1(143 +8.6(143 +13.1|143 +17.4|143 +22.0(143 +27.5
132| D |(H#F JfE 11 {132 +4.7|132 +7.1]1561 +9.2{153 +13.1|1563 +19.0]133 +26. 3|133 +31.7
133| D |SH 75/ 12 133 +5.0(133 +8.1(132 +10. 1|133 +15. 8|133 +22.3|132 +28.4|132 +33.6
134 D [T #F 13 131 +5.3|131 +9.2{133 +10. 8132 +17.2|132 +23. 6131 +33. 1131 +40.7
135| D |=k =] 14 1130 +6. 6|151 +9. 2|131 +12. 4|131 +19. 2|131 +26.6|146 +39.5|146 +45.4
136| E (WA ZHE/AE# 15 151 +6. 8130 +11.1|130 +15. 6142 +25. 6|146 +32.4|142 +39.7|126 +47.3
137] B |&% & 16 |141 +7.0(142 +13.1|142 +18.2|126 +27.0(142 +33.0(126 +40. 1|142 +48.0
138| E [kKiFE £X 17 (142 +71.4|141 +13. 3|146 +19.9|146 +27.1|126 +34. 411317 +49. 41137 +59. 1
139 E |HHE B 18 |123 +8.2(146 +15. 4|141 +20. 3|137 +29. 8|137 +39. 4|147 +51.4|147:  +1:01.1
140 E [&% H 19 (129 +8.4(134 +15. 8137 +20.5|134 +31.5|134 +41.6|134 +51.6(134; +1:03.0
41| E BB #1F 20 [146 +9. 1]137 +15.9|126 +21. 2|141 +32.0]141 +42.9|141 +52.9|141:  +1:04.1
142 E (WA B* 21 (134 +9.2(136 +16. 4136 +22.1|129 +33. 4|147 +43. 11129 +53.6(129: +1:04.2
143| E |88 M 22 137 +9.5(126 +16.6|134 +22.2|147 +34.6|129 +43.7|136 +54.3|136; +1:04.4
144 F |[EF2> 23 (136 +9.6|147 +17.6|123 +23.6/|136 +34.7|1136 +44. 31123 +59.5|123: +1:10.7
145| F |#4fR MR 24 1125 +9.9(125 +17.9|129 +24.2|130 +35.2|123 +48.6|140; +1:18.9|140: +1:32.6
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